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QUESTION 1

Which of the following effects is used by the Raman amplifier? 

A. Self-phase modulation (SPM) 

B. Dispersion 

C. Raman scattering 

D. Four-wave mixing (FWM) 

Correct Answer: C 

 

QUESTION 2

When a working PQ1 board is faulty, the device performs TPS protection switching. Which of the following statements
about the switching process are correct? (Multiple Choice) 

A. The cross-connect board detects that the PQ1 board is faulty through the board status bus. 

B. If the protection PQ1 board is normal, the cross-connect board sends a switching message to the D75S
corresponding to the faulty PQ1 board through the switching control bus. 

C. The D75S board responds to the switching message by transferring services to the shared protection bus and
stopping sending services to the faulty PQ1 board. 

D. The protection PQ1 board receives and processes the services that are transferred from the D75S board to the
protection bus to complete the protection switching. 

Correct Answer: ABCD 

 

QUESTION 3

When synchronization is performed on the 1U2000, the NE data that is the same as that on the U2000 is not uploaded
to the U2000, and the data that exists on the U2000 but not on the NE is deleted. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 4

An unprotected chain consists of four NEs: NE1, NE2, NE3, and NE4. An end-to-end VC4 trail NE1--NE4 is created,
and NE5 is added between NE2 and NE3 for capacity expansion. The original configuration remains unchanged, and no
service is configured on NE5. In this case, the unprotected chain becomes NE1-NE2-NE5-NE3-NE4, and how many
VC4 trails can be searched out? 
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A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: C 

 

QUESTION 5

Which of the following overheads is not an ODUk overhead? 

A. PM 

B. TCM 

C. NJO 

D. APS/PCC 

Correct Answer: C 
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